EE228 SPRING 2007
PROBLEM SET #6
Chapter 15, Solution 37.

A Bs+C
b G(s) = +
(b) (s) s+3 s*+25+2

s +4s+5=(Bs+C)(s+3)+ A(s* +25+2)
Equating coefficients,

s%: 1=B+A (1)
s: 4=3B+C+2A (2)
Constant: 5=3C + 2A 3)
Solving (1) to (3) gives
sl g3 ¢l
5 5 5
G(s) = 0.4 N 0.6s+1.4 0.4 N 0.6(s+1)+0.8

S+3 S$2425+2 s+3  (s+1)2+1
g(t) =0.4e* +0.6e ' cost +0.8e ' sint

(c) f(t)=e*"u(t-4)
Chapter 15, Solution 20.

Let g,(t) =sin(nt), O0<t<1l
=sin(at)[u(t) —u(t -1)]
= sin(nt) u(t) —sin(nt)u(t -1)

Note that sin(r(t —1)) = sin(nt — ) = -sin(xt) .
So, g,(t) = sin(at) u(t) + sin(r(t-1)) u(t -1)
T

G1(3)=m(1+9'5)



Chapter 16, Solution 2.
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V, (352 + 85+ 8) = 05132
V, =16 2s+2 _ 14 025, —0.125:/_+ —0.12i/_
S
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Vy = (4 + 2¢~(1:3333+[0.9428)t | o, ~(1.3333-]0.9428)t 1)/
=

+ 2e

Vy = 4u(t)—e_4”3cos ﬁt —ie‘4t/3sin &t \Y/
3 J2 3




Chapter 16, Solution 4.

The circuit in the s-domain is shown below.

— 1/s

| +4l=—> 5 5| =sV,
/s
But I:S_V0
2

5[5V, "y v, - 12.5
2 s+5/2

v, (1) =12.5e** V




